E =
€66.-Z66-61. | Woo sa|suIn] |aqealeAlld@o)u| 8 &
WOD°SaIISUIN | [9QeTa)BALId MMM g8z O mm o
ws S <t
Eco ¥'6 L (Y = ] L
z % — MMMM Bm 5 m
reaidh = b "
212)]s . STTILSNYNL szat | 232 |8| 4
o Bl E TGV ALVAINd 2238 28 |3
o B = i m_.m = o O n__Hﬂ_
A E T SE E ==
LL LL]
O m
q |m
/.0;4 , l '; l, \
»»..v NAAR B
“.m._,-in.lnin . BN ,._..H
.._ﬁ ..ﬂlﬂiﬂlftflﬂiﬂ'ﬂl._ m
L
=
)
%!
—
7
..ﬂ.-l ...T.l_T —
i
....................... =
[ 11 T I 1T 1T 11 5
z I
& HIiEINIEIEIEIEI ~
- _ __ _ __ _ _ _ =
3 : | W
o [ 11 [T ITITITI 0
S [ 11 [ 1T 111 1 1
[ 11 HIEIEIEIE
[ 11 [T 1T 1T 1T 11
- L 11 11 11
HONVNILNIVIA 404 3DONVEYATD A.D3 STb2 HOLO0Y [b'es] 9seTa 4
_ c
.Al_ [6€] 00T 7 =
=T,
i T m
]
| O
N
i o
| allalla alla allalla & - Q
e ...._n _m
! Ll — — L L L] o T m = = ﬂ“
= 3 Z
I i - o - ot ot > it O Pl _._“._
oY ”...c,,_f —
i LL. ......_W_ U
_ m _r_.x
HimiEIEIEEIEIE
|
=<
| WOOYAY3H [1'p8] 9€17
i N3FdDS [+'6] 6'552T
| v/0 [6'16] Gz€2




2 3 4
PARTS LIST FIRST DRAWN
ITEM | QTY | PART NUMBER DESCRIPTION
1 12 |M12x35-HSS-ZP  |M12x35 HEX SET SCREW, 4.8, ZP 04/03/2024
2 12 |M12x24-PFW-ZP M12x24 PLAIN FLAT WASHER, ZP REVISED
3 12 |M12-HN-ZP M12 HEX NUT, ZP
4 1 FHT-SA-01 TOP DISK SLEEVE ASSEMBLY D
5 4 FHT-PT-02 RUBBER DISK BUFFER, 40 OD x 16 ID x 25mm
6 2 |FHT-LC-33 BEAN WASHER
7 4 |M16-NHN-2ZP M16 NYLOCK HEX NUT, ZP
9 4 |13-PP-BL DIA 13 INTERNAL PANEL PLUG, BLACK HDPE
10 4 |20_22-DPP-BL DIA 20-22 DOME PANEL PLUG, BLACK HDPE
11 1 |1801-AS-01 3-ARM FAIL SAFE FHE MECHANISM WITH RATE
CONTROLLER
13 1 |CP-As-08 FULL HEIGHT CONTROL PANEL ASSY (BLUE
LOGIC) WITH STRAP
1 |1800-WM-02 SINGLE TOP CHANNEL WELDMENT
1 [1800-5A-02 3-ARM SCREEN ASSEMBLY
1 |1800-SA-03 TITAN SINGLE COMB ASSEMBLY
1 |1800-5A-04 TITAN 3 SINGLE ROTOR ASSEMBLY
1 |1800-5A-05
£
8]
-y
C &
Lo ]
= &
Q ;M
2 ™
II".; =
W = e
= ® G
£ =l £ O
= 0
|| eo S| 229
1 L w WA Q +=
. =7l =22
<< R E
> ot =1 3
= 85
T::.In =] : = E
. [
\ O = &3
- [ak]
N S
\ %ﬁ &) ; >
ol —
_ e o
(17) \'/ A B ®
= \ ) S
S £
\ %
\. %
\‘ :f
\ ;ﬁ
\- % www.PrivateL abelTurnstiles.com
TITAN SINGLE 3-ARM
. 297 F'EISSEIQE
Equipmment Dimension Detail
-
- L
~ EXPLODED TITAN SINGLE 3-ARM
29" Passage EDD ELD
DATE  (04/03/2024
AUTHORIZED SIGNATURE: DATE: [/ | SHEET 2 OF 2

7 3 -



